Year 11 Maths Methods 1&2
Progress Review – Quadratic Functions

 

Name: ___________________________

Multiple choice

1 Which of the following is the expansion of (3x − 7)(x + 5)?

A 3x2 + 8x − 35 
B 3x2 − 7x − 35 

C 3x2 − 2x − 35 
D 4x2 − 2x − 2

 E 4x − 2

2 Which of the following is a perfect square quadratic expression?

A x2 + 10x + 16

 B x2 − 8x + 16

 C x2 − 25 

D (x + 6)(x − 6) 
  E (x2 + 7)2
3 The expression 9x2 − 64 is an example of: (One or more answers.)

A a perfect square 
B a difference of squares 
C a quadratic equation


D a quadratic term 
E a factorised expression

4 Which of the following is equivalent to 36x2 − 49?

A (6x + 7)2

 B (6x − 7)2 

C (6x + 7)(6x − 7)
 D (36x + 1)(x − 49) 

E (9x + 7)(4x − 7)

5 (x − 2)2 + 8 can be factorised to:

A (x + 6)2 

B (x + 6)(x − 10) 
C (x − 2 + 4)(x − 2 − 4)  

 
D (x − 2 + )(x − 2 + )    

E the expression cannot be factorised using real numbers

6 Which of the following gives all solutions of the equation (2x − 7)(x + 4) = 0?

A 7, −4 

B −2, −1 

C 2, 1 


D − 
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E 
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7 Which of the following represent the full solution to x2 − 6x + 9 = 0?

A −3 

B −3, +3 

C 3 


D −3, −6 

E no real solution

8 A solution to (x − 5)2 − 7 = 0 is:

A x = −5 − (7

B x = 5 + (7

C x = 7 + (5

D x = −7 + (5

E x = −5 +(7
9 If the equation 3x2 = 9 + x is to be solved using the quadratic formula, which set of values should be substituted into the formula?

A a = 3, b = −1 and c = 0

 B a = 3, b = −1 and c = −9 

C a = 3, b = 9 and c = 1

D a = 1, b = 3 and c = 
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E a = 9, b = 1 and c = −3

10 The quadratic formula, which can be used to solve equations of the type ax2 + bx + c = 0, is given by:

.
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11.The turning point of the graph of y = 5(x + 2)2 − 1 is at: 

A (1, 2) 
B (1, −2) 

C (2, −1) 

D (−2, 1) 

E (−2, −1)

12 The maximum value of y, where y = −3(x − 2)2 + 8 is:

A −3 

B −4 


C 2 


D 8


 E 20
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13 The graph shown could be for the equation:

A y = x2 + 5x − 30

B y = x2 − 11x + 30 
C y = x2 + 11x + 30

D y = −x2 + 11x + 30

E y = −x2 + 11x − 30
14 The turning point of y = x2 + bx + 40 is at x = −7. The value of b is:

A −14


 B −7 


C 
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D 7


 E 14

15 One approximate solution to the quadratic equation whose graph appears at right is x = 
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A −2 


B −1 




C 1.8 


D 3.2 




E 3.9

16 Using a graphics calculator, the approximate solutions to y = −x2 + x + 4 are:

A x = 0.5 and y = 4.25 


B x = 0 and y = 4


 C x = 2.56 and x = 0

D x = −1.56 and x = 2.56 

E x = 1.56 and x = 0 
Short Answers:
1. Expand: 

a (7x + 8)(7x − 8) 

b (2x − 9)2 

c (5x − (3)(5x +(3 ) 

d (4x − 9)(2x − 13)

2 Factorise:

a 25x2 + 110x + 121

 b 6x2 + 37x + 6 
c 12x2 − 37x + 21 

d 36x2 − 49

3 Factorise x2 − 6x − 14.

4 Solve the following. 

 a (4x + 1)(3x − 9) = 0 


b 3x2 − 40x − 75 = 0

5 Solve:

a 4x2 − 5 = 0 



b x2 − 14x + 42 = 0

6 Solve x2 + 6x − 2 = 0.

7 Use the quadratic formula to solve 5x2 − 7x + 1 = 0.

8 Find the value/s of k for which the equation 2x2 + 3kx + 6 = 0 has:

a no solution 



b one solution 



c two solutions

9 Sketch, showing the turning point and y-intercept and x-intercepts in each case).

a y = −4(x + 1)2 + 2 


b y = 6x2 − 1

10 Convert y = x2 + 8x + 3 to turning point form.

11 Sketch the following on the calculator (print picture). 

a y = (x − 6)(x − 14) 

b y = x2 + 2x − 80 

c y = 3x2 − 26x + 48

 d y = −2x2 − 5x − 3

12. Convert the following quadratic into turning point form to determine the coordinates of the turning point:
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Sketch the parabola, showing all intercepts and the turning point.
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